% 2 AMPFHRY VARR—YHBRAS
F2 1EAFELIBT D AAR—YBRRERE 24 LT—T)

No =] BmERX S AP HE E—k Pk
1 9:50 D #& ST 1 1R 28 3 18
2 10:01 B#k STV 1R 39 3 24
3 10:17 TRE 57V 1R 9 1 9
4 10:21 D #& 571 2, 18 2 12
5 10:28 B#kSTY 2R 24 2 12
6 10:39 hREL HER B 9 1 6
7 10:43 P diile SRS 11 1 6
8 10:46 J=F7IB#H STV HERG 8 1 6
9 10:52 Dk ST1 HER B 12 1 6
10:56 AB—\)L(10%5)
10 11:06 L—FICH R 6 1
11 11:10 hREL R 6 1
12 11:15 =7 OIBH{STV R 6 1
13 11:22 D#k ST 1 REE 6 1
14 11:27 3tk STV HERRG 9 1 6
15 11:30 1% 7 HER B 9 1 6
16 11:34 Dk ST>2 HERR 7 1 6
17 11:38 B #5571 HERBE 12 1 6
18 11:45 3 & STV R 6 1
19 11:50 1 8% STV R 6 1
20 11:54 D #3722 R 6 1
21 11:59 B #& STV R 6 1
12:08 =ER
A=V (BRE)
25 13:00 DIk RAVH—K 2 1R 33 3 24
26 13:11 L—F7IB#H REVEF—K 1R 25 3 18
27 13:28 L—FIMCHH REE—F 1R 23 2 12
28 13:35 HREXAVE—F 1R 13 1 13
29 13:39 1| REAVH—FK 1R 14 2 10
30 13:46 DIEREE—F 2 2, 24 2 12
31 13:53 L7 IB#k REVF—F 2R 18 2 12
32 14:04 58 REVAE—F SR 5 1 5
33 14:08 4§ REAHF—K SR 8 1 6
34 14:12 3k REVE—F HER B 7 1 6
35 14:15 L7 IB#H REUF—F HER B 12 1 6
36 14:21 L—_FICHF REVEF—F SR 12 1 6
37 14:25 HREXAVE—F R 13 1 6
38 14:28 1 RAUH—K SRS 10 1 6
39 14:32 DIFRAVHE—K 2 HER 12 1 6
14:36 A2B8—\)L(10%5)
40 14:46 L7 OBk REUF—F R 6 1
41 14:53 ZFICH REZF—FK R 6 1
42 14:57 TREXE2VH—F R 6 1
43 15:02 58 REVAE—F R 5 1
44 15:07 4§ RAUE—K R 6 1
45 15:11 3k REAUE—F R 6 1
46 15:16 18 RV —F R 6 1
47 15:21 D # RHVH—F 2 R 6 1
15:25 =&
A3 —I\)L
48 15:45 BIRRZH—K 1R 92 7 56
49 16:24 D # REVAE—F 1 1R 77 6 48
16:46 A2B8—\)L(10%5)
50 16:56 B #h RAVA—F 2, 56 5 35
51 17:23 D # RHEVA—F 1 2, 48 4 24
52 17:38 B #h RHVE—F 3R 35 3 24
17:54 A2B3—INIL(55)
53 17:59 D #h REUE—F 1 33X 24 2 12
54 18:07 B #h RHVA—FK 4 24 2 12
18:18 AB8—NIL(BH)
55 18:23 D #h REVE—F 1 SRR 12 1 6
56 18:26 B #k REUE—FK HERR% 12 1 6
57 18:34 D #h REVE—F 1 RiE 6 1
58 18:38 B #h RHVA—FK RE5 6 1
18:48 & &2 A
18:58 &Y




